
NAT I Computer Science Computer

Sr Questions Answers Choice

1 Which of the following is a basic network topology?
A. Star
B. Bus
C. Ring
D. All of the above

2 A token ring network 

A. Uses ring topology
B. USes token passing
C. Can operate at 4 Mbps using UTP
cable
D. All of the above

3 Which of the following is not a protocol
A. Ethernet
B. Token ring
C. FDDI
D. None of the above

4 Which of the following is not a communication media?
A. VSAT
B. Fiber-optic cable
C. Satellite
D. Terminal

5 This device connects different types of networks to form an inter-network
A. Gateway
B. Bridge
C. Router
D. None of the above

6 LAN stands for
A. Limited Access Network
B. Local Area Network
C. Large Area network
D. Light Area network

7 Local Area networks do not use
A. Twisted wire pairs
B. Telephone
C. Coaxial cable
D. Fiber-optic cable

8 The process of transferring a file from a local computer to a remote computer on a network is
called

A. Uploading
B. Downloading
C. FTP
D. Browsing

9 This communication medium is used to connect the networks and the computers in the
internet

A. Telephone lines
B. Fiber-optic cables
C. Satellites
D. All of the above

10 Which of the following is the most common protocol used for E-mail?
A. FTP
B. POP
C. SMTP
D. Jpeg


